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a) V=7x(1.5?%(8)° cm’

b) V=7(1.5)(8)* cm’ iom
&) V =7z(1.5)(8) cm® |
d) V=7(1.5°@®) cm’

il yiadiios 10 Jilal) Ae\il)lg fasiice 16 okl aly Jag yial Anslad) dalucall angl

a) L.A.=7(16)(10) cm’
b) L.A.=z(16)+(10) cm?
c) L.A.=7z(8)(10) cm”

d) L.A.=7(8)(10) cm®

palaf Jishl AL Asliie  sdiial zrlacdd) Aalica La - lase fiasiini 34 golud AN ) pdiial rdacad) dabica
S tal) Jgdiall Mayl Cilaial 3

a) S.A.=306 cm’

b) S.A.=102 cm’

c) S.A.=918 cm’
S.A.=61cm?

bolwa B 580 paa 9%y . 3o Wphkd ciual B §55]cmr Wyhd ciai A 58

A 5 ana x3 b) A& aaa x27  c) A S aza x9 d) A 5 aza x8
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.(Bgiial) Bhia Lo el lasaua laliiiu) Jia Al 5)ked) aa

(h) Jead! =By

a) Jikaie gz
D) 3Ssal sauy Juad¥) Gulil) 58 Jacu sl
C) 2 xic 48 e 4o Sla

d) 9 e 48 i dad Gua
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a) 7 (6)10 b) 7 (6)%(8) c) 7.8.10 d) z>.6.(10)2

L_&SL-“:’ Jsadu G.A‘QAS‘ :\J\ghuY\ &WJ‘

d)3

3l Chal aaa dagl (10) Wi Jeh 3

b) V =§ 7(10)>

1) 4 .




gt Llghau) prhas daluwa o8 7Cm2 5ac i) dabuag 23 .90 Adlshod Auilal) Aalual) culs 13)

a) 7x2+23.9 b)2x23.9+7 c)7+23.9 d)7x23.9
Lagla JS a2 G QB hll) Chualy £ WYY (B Cpgludia Dilghand JS& o AT hagyda JS& e 2l

a) by Aall aaa x ; = &) gha¥) ana b) Zj\)la‘g‘}(\a;x:;:LJ_)s.d‘P;;

@l 7 Wk iy f7 Welii) S Ul plaw daluwa

a)2zrh+2m? b) #rh+2m7 c)2xrh+mr? d) 7z th + o?
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a) v = 7(20)%(10) cm’ 1 b) v = 7(40)?(10) cm’
c) v=m(40)(10)* cm’ d) v =7(20)(10)* cm’

(3-14 = miel) . (sl acnall aaa 2l

a)v=188.4m> T8 b) v = 2260.8 m°
¢c) v=376.8m’ d)v=1130.4m"

€2 5,8 Lulia Jaloay s AGldia (aga analae . laSa Hadiu 24125 4ana frulaa (asa

a) 225000 cm> b) 125440 cm’
c)186750 cm” d) 193000 cm’




ke e eid il ) B g acad) 138 aaa dagl L GilSasii T okl ciual 5908 Lial pua
(3-]4=7t)_£'$\)

a)v=718 cm’ b) v=2260.8 cm’
c) v=4521.6 cm’ d)v=1071.8 cm’

(314 — 1'['_)9:\9\) . By Cya £ g_.g)‘ﬁ\ P w8y peunall Ghu daliua .\93‘

/Mo 10cm

a)v=652.2 cm’ | - b)v=163.3 cm”’
c) v=188.6 cm’ Y™ d)v=175.8 cm’

LCshall Zlagl) e BB (A AakiTiall £OLAY Cibuiled (e Adlida plaal aladiul o3
ulad IS g3l Yol cils 13) 27 .5 cm’ daliayy 4 CM._jjiua gzl pulas S g3 okl
Saialua Led (8 CM S g3l

a) 110 cm?
b) 32 cm’
c) 16 cm”

d) 55 cm”

P (A 48 gl -Adu Cra (Goluda T80 = Slaaa 13) jadly Aac| 2Sa clally duca 293




Adnal) Cial) Jead Ada adad Jik (sl
TIGER 4.\ & Uilgde wigall Jahll i of Jlaial aagl

gl sl Lusa 245 Gl 05k Luss 18 o Juwd L (gytas
SR e g lan) O Alsde IS8 eud Gsb s LA Jladal La




ehaY Alade S Nake Lyl Aaa JUaS .Gl 61% dLag)l Juik] G e
LCily JLOAY aTlal) Eigaa Jlada) dagl cAse dilda

a) 39 %
b) 61 %
©) 29 %

d) 119 %

Syl Ao sl auai LgINA e AdSay A okl e a8 oS DU jae dliag

a) 6 b) 27
c) 3 d) 9

¢ ol J”.E.\ q..ng).;.u\ Jlaial) La. C.J))A6 3 gl Q)‘.E‘ 54 18 L,d.a.-i.hs 1@.’1.\.5 Gy Ladic

1
b)) =
)3

d) 50%

€GN all g Laill milall) sae laa) Le
(Sl ol ala) queS A Jue gl Ol ol 5023 aa c glSIS i (sLE gl 3gd LAl
b) 6

d)8




o ady . Aslgasl cil)S 3 9 AES, SIS 49 Cugly) (usSy e Baaly Aala) 58S Ao dula ggiad
¢ P(oant a5 (@50 ) Gsss pS A0 58 e o3 L 1gSale) ATI Wy B8

1
a) 30% T
) ? ) 45

2

C E—
)45

I5igea Cdll OF astly) zdlal Igiga il CBURl 3e a5 oS . Agyilall cleUadlly Jaadl) e el

b) 56
d) 57

A oSl Aalinie ddeay QUGS b 09000 aadaall B aldll 6 Jual e 4 O peall s
eAakiiie dduay UL cush ¢ gugime Oudl) QalASY) saal Jginall aBgil) La .aaiaall A2 Ladl 4320

a) 720 b) 2,880
c) 864 d) 3,600

3 . 2 .
.66 M 4ana IS 13) (38all Jag hall gliTy) aaf




L iadiin 7.5 Wkl ciual cligha) (saa) - Lgadl goads Yidial Jal 459 S clisllh L _alad
Byde Cra g Uil A 3B AL aaa e (a

4284 A esa Jladiic 3000 Javas Adgilall i U ol ol (b
T4 Il il LgB it (Al 32al) La

gl daluis o anally Galdl) pusal) ¢ gl JSEY Juay
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SA = 2nr2 + 2+nrh /




3aa 60,000 A Gladul g el il s s (gyatall el Jatall) aadsial)
Ungiine Liaiga Lol Q1 gsidions 0l (Baba sala 28 (sa Jeal (3 coBapall a2 oS (s
AED 20 agia JS zria a3 13
s CaiS S
AED 20 aai; 4
4l e
9%\
baledt 1 citaln
5%

Latlpdie Ly con ai e 8 N 1 O a1 Jaad cilBla Slad dali a3
Eaa IS Jlada anf




Jahaid) e add 5,000 s goUiul a3 cdaladl Aiasll 7 5al) GlSall Joa oalail) saliay La aaall
Jadual) ZEta) - O\Sall Lo Cuiasine agia 58% OIS cagul £ UAIM a3 Cudll GalAEN) Cay - Lilsde
Llila) s Y el Tadla Lol oA Le 13) das Lapmad i olSal) o

Al Adia e AV Aaall | giaal) A Jaw 4D AL Glpe sae saanl
ila) g Sl AU Sl JaaT Ja

find the sample space for picking a DL Oadae LEAN Lall e ladl Aagl

number from 1 to 3 and choosing coasNl o yaaN) 5l jLasls

red or white. Lol W yaadl R aaiiud

Use R for red and W for white.

a) 123RW B) 1R1IW2R2W3R C) 1IW2R3W




The questions on a multiple—choice
test each have 4 answer choices.
Describe a model that you could
use to simulate the outcome of
guessing the correct answers to a

10—question test.

Ciye 4 Aglutia sl 10 4 Jlos Gad s

DA Al fe e pladiad 2 e IO
Ladgad ciua Agladll c))lad) 4 sastia O
LYY Ceadt At 3lSlaal daadti) SliSay

Al 10 0w 0sSae olaniaY daanal)

spinning a spinner with 10 equal-sized sections 4 times

e 4 Asidaa 285 dadad W)

tossing a coin 4 times

e 10 A gludia ,;b.u&ﬂ 4 4 Joa yaB et

spinning a spinner with 4 equal-sized sections 10 times

e 10 dgises a8 dakad ¢ i)

tossing a coin 10 times

Find the total humber of outcomes

for tossing a coin and selecting one

letter from the word "MATH".

ddane Al dakd £ W) malid aac Alea) a2l
SMATH” A4S e aals s Ladls




Two number cubes are rolled. What O Jlaial La Llas eSa Aaan AT
is the probability that the sum of Lagele (g 5palll Spasel) £oana Oy oSy

the numbers on the cubes is 127 12 oa OHlmSal)

p) 12 1 d) 35
) 35 )1 )

In how many ways can a president Sy ey quilis Gy HLOAN 0S4y 48 50 A
and a vice president be randomly CLita 20 408 )y Cha Cpa Jlgds
selected from a class of 20

students?

a) 20 X 19 b) 20 X 2 )20 x 19 x 18 d) 20 + 19

Find P(8,3). .P(8,3) 224

a)8X7X6X5x%X4 b) 8 x3 c)8x3x2x1 d)8X7X%X6




The spinner and number cube Olisall Mae¥N) CaSag Jleall asdll andtie

shown below are used in a game. Sl aydll (@8 gn Jlaial La el 85U

What is the probability of a player daaaic 6 Jo Jomasd aB BN i
spinning blue and then rolling a 67 sl

X
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There are 4 oranges, 7 bananas, Lalalds §5oalea 7 o eNE 4 aae

and 5 apples in a fruit basket. 4S8Ny dakd ) gata AN LGS Al
Mansour selects a piece of fruit at 44S1al e dxlad ngana LA A5 Lidlgde
random and then Mahmoud selects CCE0) g LSRN At o Jlaial aagl L Llgde
a piece of fruit at random. Find the

probability that two bananas are

chosen.

a)




The table below shows the results
of a survey of seventh graders.
Predict how many students out of

200 will enter the Education field.

Career Field | Students

Media 17

Education 14

Medical 11

Sports 8

a) 28 b) 56

A survey found that 80% of people
use emoticons on their instant
messengers. Predict how many of
the 1,000 students at a school use

emoticons.

b) 800

O gildatid peilis Heday (38 yall () gand)
<l 200 Jeal opa Dl sae oS L

¢) 50 d) 14

<lUa 1,000 Jal fpa Llla a8 Lin L35, 680

AN syl G gardtien La dyra B

d) 80000




Lamya surveyed a different group of
students in her Science and Math
classes. The double box plot below
shows the results for both classes.

Compare their Interquartile Range.

How Many Times Have You
Posted A Blog This Month?

Math Class =—+ ¢ ~~ +——
Science Class m—'

y 1 1 T T 1 1
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Cre AANAL Ao gana o) gLl o Laal ciald
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> L ol Spaslall 3 (3 galall hlhia
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0 5 10 15 20 25 30

15 :ashal (a5 ialual ) Cia

Math class: 5, Science class: 15

25 aghal (iia 20 :abual ) caa

Math class: 20. Science class: 25

15 taghsl cia (15 :abual ) caa

Math class: 10. Science class: 15

10:a52) Cha (15 :abualy) Cia

Math class: 15, Science class: 10




Which of the following charts is ¢ ae A ASla) edlia) S

misleading?

gl

17,000
16,500
16,000
15,500

15,000
14,500

14,000
oL
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Sl Yol
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Hassan wants to predict the next N 25 VA SRRV SO e PRNCN R IC VT
student council president. He polls oad i adly Js h__;_i; £oUaiuly UM A8 L anl@l)

every fourth person from each SOl e agag A Ale by Cua (IS e

grade level as they exit the gran At Al ddall g8 aaa
cafeteria. Identify the sample that

was collected.

e ddlsde ide
systematic random sample
convenience sample

simple random sample

e gh Al Ao

voluntary response sample




The double dot plot below shows sUal Azanall Bl zeajall  Shall awyl) Hedhs
Fawzia's and Lamis’' number of B als 4u) e Lghuab 2 @le bl aae
hours worked in two weeks at their AN ahlal S oue sand 358 JMA Jard

jobs. Which of the following fdainin

statements is correct?

Hours Worked

£

]
wt+eeee +eeee [

- - Fawzia

—+—= Lamis
12 13

W40 0 000

e ganall 9 filata o) bl
The distribution is symmetric for both sets of data.

O ganall ..A il gaall
The range is different for both sets of data.

L0 ganall 2 Al ol dasudl
The median is not the same for both sets of data.

e sanall 11 $obes &l
The range is 11 for both sets of data.




How many permutations are possible 4.l 8 lag allalaaadl Jalall sac A

for the letters in the word

"FRIEND"?

6 X5x4x3

¢"FRIEND"

s de 5 51 3 o ey cirsae Cilg Jlada) aagl

b) -

d)

3
L]
6

- ASY) clBlad) Che Alsde JSEy Gy ABUay Caa ol
P(E o) 2




c83a 11 8ol o By M85 ¢ 5ra 30 Asiiea J85 dakd £ 1A aic
. Bisuall o a8 daled g8l el Jlaia¥) aagl

o Aggludia aludl 4 aa g af sagiy eV Case e die il aae Jlaa) aa

10 b) 18
24 d) 6

¢ palddl 7 Gm oa lede JS8 ale Caly Gl uiliy gusdy JWER) (Say Ayl Ay

420 b) 210
d) 720

dangall duBa e Hlgde JSn Agle Lala) 58 LAl dae Gase Ap e
P(sal s 5) 2yl dsle Lalay cis 8 o (g5iad Al

b)

1
4
1

d
)24




- b LE ARl 20 Jual e Agls 15 3 2aaa 8
¢ Lgd il Al AldEal) ABleal) 2 dasa b Jlaia) aa

b)3

d)

4
=
3

¢ zasall Jlaiadl 4, giall 4udl) La

a) 50% b) 100%
c) 25% d) 75%

¢ Josugl dag) Janl) 8 aia lgudald LAl cilelud) ase U daaseal) JalAily Slad) ael) gday

- oLl bl @l LB bl (ulida aas

a) (lhall Gl aiY) b gia b) Jas gl

c) (ribund) Jans giall d) O giall




o saall sagl L aaball Le dalus o)y ABIST oLiaf Cpdaslal) (53 (3 gaiuall Jabada Cpu

e

1 i Il i l I 1 ] —
1 1 | I I I 1 I ==

55 60 65 70 75 80 85 90

b) 70
d) 10

- olial Joaadl B clill) (ol dualia ESY) Gaal) 48k 54

45 a) do ghadlly Sl Jafadl) b) @A Sl Sl
44
45
-t C) Oatall 53 3 gaiuall hahaia d) ooz
. pgedl Ladal) Aall) ¢ Gl 200 () £oUatw) ilis oLl (g ilal) Sbad) Jfadl) Coam
¢ ALl 58 ¢ olady Cpdl) LalAEN) sas oS

Ml Zlaall olal¥l

Al
. b) 80

d) 100

Gilsde AgSWN (pe 4aksd Lidle cylial oF Lilgde AgSWl cha dakad L0 cy)lidl
- P (A a5 Aalis ) JLEa) oty of Jlada) aag
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